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@ FHRESLERBES
(1) EROMBMBIFERTHLEGZHTRES LV, HRES A OEZROMEE n(A) TET,
(2) EROBMBSFRTLVWEELERESL V),
@ MESDOEZOEE
n(AUB)=n(4)+n(B)—n(ANB)
£z, ANB=¢p Dk &, n(AUB) =n(A)+n(B)
© HESDEZROEH
n(A)=n(U)—n(A4)

OELXE 00

1 [(EA0EZROEH] KOEHEAIWDNT, n(A) DEZRD X,

(1) A={x|x*—1=0} (2) A={x|x*+4=0, x 1TEHK}
(3) A={x|—2=x<2, xX%H) (4) A={x|x 1228 DIEEDKE}

2 MEEOEZROEH] 1205100 FTOEHDI D, 3OBMOESE A, 5 OEHOEEL B
EF b, ROBEDEZEOWEE KD X
(1) A (2) B (3 ANB 4) AUB

3 [HEAOEZOEE] 125100 TTOBEDI L, ATEHWYALIHOEER2PLT S, K
DEEDEXEOEE 2RO X,
(1 P (2) P

4 [fEE, HESOEROEH] 2UhER UL, ToONGEE
A, Bizowt,
n(U)=50, n(A)=28, n(B)=19, n(ANB)=6
ThbdEE, ROBEEOEZOEBERD X,
(1) AUB (2) ANB
(3) ANB 4) AUB




1 BEEOEROE#H 5

1 ER0EH
1705 100 £ TOERITOWVT, 2, 3, 5 OVTFRPTHD WRLEI L 2D 5%

EEE n(AUBUC)=n(A)+n(B)+n(C)—n(ANB)—n(BNC)—n(CNA)+n(ANBNC) 2K H 312,

2DEHDESE A, SOBROEESE B, 5OBBOEAE CLTHE,
; n(A)=50, n(B)=33, n(C)=20
ANBIE, 2CH 3 TLENVNEBEBOEETLD, 6 OBBOEL, Lo, n(ANB)=16
RS, BNCIX 15 Of%, CNA 10 DEBOEE LY, n(BNC)=6, n(CNA)=10
T/, ANBNCIZ 30 OFHMOELEDNS, n(ANBNC)=3 '
kKO LHEAT AUBUCER S, FOMmEI,
n(AUBUC) =n(A)+n(B)+n(C)—n(ANB)—=n(BNC)—n(CNA)+n(ANBNC) !
=50+33+20—16—6—10+3=74 T4
5 17205200 FCOERBOESZNEL, A, B, C* NOEHEEET S, AIX3 DO
HMOTRTOES, BIZ5DEROTXTOES, CRTOBBOTXTOEGLTH £ESD
BEOMEBE n(S) THRT L X, KOFZMEEL KD Lo
(1) n(A), n(B), n(C) (2) n(ANB), n(ANBNC)
(3) n(AUB), n(AUBUCQC) CEPETN)

PIRERME— 4 €

6 155100 FTOHRET, 20EEEKROEEE A, 3DOEREKOEER B, 5 DEBEKRD
BEE CLTHLE, ROKEEERD L,
(1) n(AUB) (2) n(AUQ) (3) n(AUB)
4) n(ANC) (5) n(ANBNC) (6) n(AUBUC)

7 00D TOEOEROFRT, 3OBKTHED, 4DEHTH 5 DEBHTL 2WEIXTWDH B,
(B AL K%

SHEME —6 ¢
8 HAWHBMEIZ300 ADE= Y —HHEL, BRES A, B, CEFHoTwaE2E) PR
Nl AZFESTWAEA, BEFHoTWLA, CaRFoTwa AZEnZN 100 A, 120 A, 130 A
Tholze SHHEEDFH>TWAATI0OA, 3FEHEDFS>TWARWVWAIZ60 ATHo72,
ENnd 2 BEE o TV B DEM Ad. (r#F
¥, n(ANB)+n(BNCO)+n(CNA) ZRKD 5B,
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[p.4] 1 EE£OEZOEH
1 (1) A={—-1, 1} &b, n(A)=2
(2) x?+4=0 DRI VDL, A=¢, n(A)=0
(3) A={-2, —1, 0, 1} &1, n(4)=4
(4) A=(1, 2, 4, 7, 14, 28} k1, n(A)=6
2 (1) A={3-1, 3-2, 3:3, -, 3:33} &V,
n(A)=33
(2) B={51, 5°2, 53,
n(B)=20
(3) ANBIZ 15 DEHIZEH 5,
ANB={15-1, 152, 15-3,
n(ANB)=6
(4) n(AUB)=n(A)+n(B)—n(ANB)
=33+20—6=47
3 &hEREULTAE,
U={1, 2, -, 100}, n(U)=100
(1) P={4-1, 4-2, =, 425} X0, n(P)=25
2) n(P)=n(U)—n(P)=100—25=175
4 (1) n(AUB)=n(A)+n(B)—n(ANB)
=928+19—6=41 ANB
2) n(ANB)
=n(AUB)
=n(U)—n(AUB)
=50—41=9
3) n(ANB)
=n(B)—n(ANB)
=19—6=13
4) n(AUB)=n(A)+n(AUB)=28+9=37
[p. 5]
5 (1) n(A)=66, n(B)=40, n(C)=28
(2) 15 ORERIE, 200+-15=13&V 5 XD,
n(ANB)=13
3X5X7=105 DREHIL, 200+105=14%H 95
Xy, nANBNC)=1
3) n(AUB)=n(A)+nB)—n(ANB)
=66-+40—13=93
n(AUBUC)
=n(A)+n(B)+n(C)—n(ANB)
—n(BNC)—n(CNAY+n(ANBNC)
=66+40+28—(13+9+5) +1=108
6 n(A)=50, n(B)=33, n(C)=20,
n(ANB)=16, n(ANC)=10, n(BNC)=5,
n(ANBNC)=3
(1) »n(AUB)=50+33—16=67
(2) n(AUC)=50+20—10=60
3) n(AUB)=n(ANB)=n(U)—n(ANB)
=100—16=84
4) n(ANC)=n(AUC)=n(U)—n(AUC)
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N 5.20} g V),

R 15'6} X V),
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A B

ANB

=40
5) n(ANBNC)=3

6) n(AUBUC)=50+33+20—16—6—10-+3
=74
7 200 LT DIEDEE
DFRT, 3D/, 4D
R, 5 DBEOES
rENFNA, B, C
E35E, RKDBLD
12, #6ANBNC (K
ORHFERS) OEFED

A TH 5o
A={3-1, 3-2, -, 3-66}
ANB={12-1, 122, -, 12-16}
ANC={15-1, 15-2, -, 15-13}

ANBNC={60-1, 602, 60-3}
L7=435T, n(ANBNC)
=n(A)—n(ANB)—n(ANC)+n(ANBNC)
=66—16—13+3=40 Lo, 4018
8 HBHEA B C2HE-TWIADESY:, Th7?
NA, B Crt325k, n(4)=100, n(B)=120,
n(C)=130, n(ANBNC)=10
%7, n(AUBUC)=300—60=240
n(AUBUC)=n(A)+n(B)+n(C)—n(ANB)
—n(BNC)—n(CNA)+n(ANBNC) X Y,
240=100+120-+130
—n(ANB)—n(BNC)—n(CNA)+10
Yo, n(ANB)+n(BNC)+n(CNA)=120
kBB, R
Ho0EEDEZOEE
75,
120—3-n(ANBNC)
=120—3%10=90
bt 90 A
[p.6] 2 HZEDH
9 (1) 1, 4, 4 1, @, 3), B, 22v4EY
(2) B8 OBEOEIZ, (2, 6), (6, 2),
(3, 5), (6,3, 4 H)o5@EY,
EoT, KDOBBEOHIZ, MOEMLD,
4+5=9 (@Y)
(3) (3, 6),(6, 3),, 5),5, 4,4 6),6, 4,
(5, 5), 5, 6), 6, 5, 6, 6)»10@EY
(4) Ho®ErmEucksolx, (1, 1), 1, 3),
(1, 5, 3, 1, (3, 3), (3, 5), 6, 1), (5 3),
G, 5)DIEY, T, TNTOHAEE, 6X6
=36 @Y KD BB EDEIZ, 36—9=27 (&)
10 s5ofEHE A DIF, (1, 5), 2, 5), (3, 5),
(4, 5), (6, 5), (7, 5) D6BEY, F72, 6 DIER
Esmi%, (1, 2),©2, 4,3, 6), 4, 2), 5, 4),
7, )6y, MOFEALDY,
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